- - O
WNAILXE K242
XELEMAHZBEIE. TR L ELEEHOESHRELL
" AMEARERSEFRHRRELTLLESL,
x
&
|
@ o .
B o TR b
f TS W70 % 105 (SUS304)
@ g BB IA R < 80mm
| FFoa)
1) )
SRl
it gL = s
ﬁ ﬁ;z 135
NAEERIL b
M8 x 120 (SUS304) NEILT T ILK
FFvay) AB063S-T5 —
FFvay)
4
% N
YA
b3 T
¥
| 100 | L #BK150
iy a0
S M5 x 16 (SUS304) ABNOIS-TS
3 e [0, | g Enese 9
Vi @ R W=3600
S T v <1800 <1800
7% @A) K
M8 x 75 (SUS304) ™ A6N01§SiT5
®FB - <
‘ ‘ ABO63S-T5 I
g N\ JZILHEK150 o
& \ \ ABNO1S-T5 g
ﬂ 1 u
L] L 7
Lt N,
T##M ISy kK Il
o AB063S—T5 i B
+
9oy Or, SR
2 10 x 105 (SUS304)
A EHIEIAE & 80mm
‘ T /‘:‘é g A F
@ | .| 1 CHEMOFAST $Tv345
8 | FH 12X
g B4
a@p €
| g A F
| /J 4 CHEMOFAST STV345
b ZE7 $12x90
R [\ &
BEFHANLT VO NMK 25+15 SHEIARIL
AB063S-T5 M10 x 105 (SUS304)
- *HK A #hiE5A i & 80mm
#3743K150 - ABNO1S-T5
AGNOTS-T5 I
&
S “H %TB )
=0 15 o A60635-T5
CBMpHe s 8 0 fsebged £ 8 3ol
L | L
1810, | 50 | [18+1 50
85~100 | 85~100 [ @100 | » n_ | @100LLT | 604100 | 60~100 [@100UTF | » n__|@100LLF | 85~100
<1800 <1800
W=<3600
AAEERIL L
M8 x 75 (SUS304)




